Math 274 Systems of MUCs Name:

Due: 27 Nov 2017 Show Appropriate Work Point Values in I boxes I

As usual, I hope you finish this in class, if not it is due Monday. We are interested in solving the
nonhomogeneous equation x'(¢) = Ax(t) + f(t) where
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1. Find a general solution to the homogeneous equation x'(t) = Ax(t).
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2. Use the Method of Undetermined Coefficients to find a particular solution to
x'(t) = Ax(t) + 0l
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3. We are interested in using the Method of Undetermined Coefficients to find a particular solution

to
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x'(t) = Ax(t) + { 0

(a) We would normally try a function of the form x,(t) = e%a, but in this case the homo-
geneous equation has a solution of that form. Following what we did in chapter 4, we try
xp(t) = te¥*a. Show this does not work.
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(b) The proper form for this system is x,(t) = te*a + 3b. Use this to find a particular
solution.
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